n9-10 °3n-88-113

FOGY) =)y, +2% Y, +3X,Y, "y ann wra mian f i R*xR? — R an
"VI7IVOT 07021 207 AX VK 2°n22 f AR AXA K

S

N0 AXMUNa q DR AT gq(v) = f(v,v) Mmayv .2
11
1 3
3 1
W:{Wl = YW, = 1 D°027 SVITIVDT D’0ATN NAVA DXV RINA .2
3 1
-2 1
W 0°0277 5% %700 29022 f nR XxXnh "y a2 wnnws T
3 -2\1 2y 3 1 B 9 3
1 100 3\-2 1) (-7 6
AN A < 2
(Xl XZ '
-7 61V,

W ©°0277 %57 wM5n1a g DR 287 .7
FOXY) =9X, Y 3K, Y, —7X, V43X, Y

:MIR2T NPYI2°7T N1°1aNT M2y .

,NPA070 DAY TN KX e
,A2W NPN0IIRT NARNT 78000 IR 22127 007 RN RXN e
I

R -1 TETA DAY NPN0IVRT IXWAT IR YA e

PIN2A MNANA YW NPIPIWT IR vap e
4x® +12xy +8y* =0 x

4 6

6 8

4x* +12xy +8y% = (2x +3y)* — y?

1

[ J = 7737199, d =0 =092

1IN
{(x,y):x?=y?=0}={x' —y' =0Fu{x' +y' =0}
X*+xy+y’=1.2



1 1/2
1/2 1

1, 3 1V (V3
2 2 _ - 2 e 2: - Y
X"+ Xy+Yy _(x+2y) +4y (x+2yj J{Zy}

[l } l
3 —{ ]:,709%*
— 1
4
4 6
6 9

Ax* +12xy +9y? = (2x +3y)?

1
=W

1N

X2-2 = (X—/2) (X+/2)

Ax* +12xy+9y* =2 .3

0 2
.d=3 712y ,"u771v07 ©°012 (2 0 MY AR A"NE LT

4x,X, =3
4X1X2 = (Xl + X2)2 - (Xl - Xz)

1
[ J = 7713797

2



